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1.	The weight in ounces of an n-page mailing is given by W(n) = 0.35 + 0.2n. The graph of this linear function is a straight line with a slope of 0.2 ounces/page.


2.	Let C(z) be the postage cost for a letter weighing z ounces. For 0 < z ( 12, C(z) is a step function, jumping by $0.23 at each integer value of z. This step function can be expressed symbolically using the “ceiling” or “rounding up” function:


�EMBED Equation.3���.


	For 12 < z ( 32, the postage cost is constant, C(z) = $3.00.


3.	The function needed is the composite of the functions from 1 and 2, namely C(W(n)). If the number of pages is between 1 and 58, then the mailing will weigh less than 12 ounces, and the mailing cost will be


�EMBED Equation.3���.


Note that this function has periodic jumps: the cost for 1, 2, or 3 pages is $0.32; the cost for 4 to 8 pages is $0.55; the cost for 9 to 13 pages is $0.78; and so on.


If the mailing is between 59 and 158 pages, then the weight is between 12 and 32 ounces, so the mailing cost C(W(n)) simply equals $3.00.


4.	If n > 158 pages, then W(n) > 32 ounces, so the postage cannot be determined from the given information.


5.	One might consider sending the maximum number of pages allowed for a particular postage rate. The ideal page counts would be 3 pages (for the 1-ounce rate), 8 pages (for the 2-ounce rate), 13 pages, 18 pages, 23 pages, and so on through 58 pages. 


6.	In this new scheme, C(z) is redefined as the linear function C(z) = 0.30z. The composite C(W(n)) would also be a linear function. Since this composite function has no steps or jumps, the strategy discussed under problem 5 would no longer apply. 
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